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QUESTION 1

Which of the following declarations is NOT accepted by the compiler? 

A. DCL A (3,3) FLOAT DEC (16) INIT ((3)(3)1); 

B. DCL B (3,3) FLOAT DEC (16) INIT ((3)(1), (2)(1,1,1)); 

C. DCL C (3,3) FLOAT DEC (16) INIT ((9)1); 

D. DCL D (3,3) FLOAT DEC (16) INIT ((*)1); 

Correct Answer: A 

 

QUESTION 2

What does it mean that an interface is synchronous? 

A. Requesting program must wait for a reply 

B. Requesting program always receives immediate response 

C. Requests are processed randomly 

D. Requests are processed in parallel 

Correct Answer: A 

 

QUESTION 3

Given the following declarations, which statement correctly refers to X? DCL R CHAP(10); 

DCLX CHAR(10) BASED; 

DCL P PTR; 

DCLZ CHAR(10); 

P = ADDR(R); 

A. Z = P -> X; 

B. P = ADDR(X); 

C. Z = X; 

D. X=\\'THIS IS X\\'; 

Correct Answer: A 
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QUESTION 4

The Senior Vice President of the organization is onsite for a one day visit. She has asked for a meeting with the team
lead to understand the status of the project. Which of the following is the most appropriate action for the team lead to
take? 

A. Walk her through the functional specification for the application 

B. Show her the most important APIs that have been defined 

C. Show the requirements specification as a way for her to understand the project 

D. Take her through the project plan 

Correct Answer: D 

 

QUESTION 5

When a program reads a variable record format dataset via LOCATE mode, what happens? 

A. READ pointer points to the length bytes in the buffer. 

B. READ pointer points to first data byte in the buffer. 

C. READ data is placed in specified area. 

D. The ENDFILE condition is never raised. 

Correct Answer: B 
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